Chapter 2 Test Bank: Adding and Subtracting on the Number Line
2.1
Which of the following is equal to 7 – 9?


a.   7 + -9



c.   -9 – 7


b.   9 – 7



d.   7 + 9

2.2
Which of the following is equal to -11 + 4?


a.   11 – 4



c.   4 + 11


b.   -11 – 4



d.   4 – 11

2.3
Which of the following is equal to -22 – 6?


a.   -6 + 22



c.   -6 + -22


b.   6 + 22



d.   6 – 22

2.4
Evaluate the following expression:

|7 – (-4)|


a.   3


b.   11


c.   12


d.   -11

2.5
Evaluate the following expression:

|-15 + 9|


a.   -4


b.   24


c.   6


d.   7

2.6
Evaluate the following expression:

|-30 + (-7)|


a.   -37


b.   23


c.   -23


d.   37

2.7
Which of the following expressions represents the distance between -2 and 5?


a.   |-2 + -5 |



c.   |2 – 5|


b.   |-2 – (-5)|



d.   |5 – 2|

2.8
Write an expression that represents the distance between -2 and -7.


Answer: __________________________

2.9
Write an expression that represents the distance between 3 and -4.


Answer: __________________________

2.10
A scuba diver is swimming at a depth of -80 feet and she is 111 feet from the bottom of the ocean.  What is the depth of the ocean at her particular dive site?


a.  -191 feet
        b.  -211 feet 
     c.  31 feet
      d.  -198 feet

2.11
A scuba diver descends 25 feet from the surface of the ocean. She ends up 50 feet from the bottom of the ocean. In the space below, sketch a picture that depicts the diver’s distance from both the top of the ocean and the bottom of the ocean. Then, find the depth of the ocean at this particular dive site.            
 Depth of the ocean: ____________________
2.12
Sam is on a rock-climbing trip in Mystic Valley. He camps on the valley floor, which is


130 feet below sea level, and spends each day climbing the valley walls. One day he 

climbs 75 feet and stops for a break. After the break, Sam continues to climb upward for another 18 feet and then 21 feet more. 


a) How many feet above his base camp is Sam at the end of the day? 

_________

b) What is Sam’s elevation in relation to sea level at the end of the day? 
____________

2.13
Mice collect pieces of cheese and store them in burrows. The table below shows


information about the number of pieces of cheese collected and eaten by a family


of mice in 2 days.

	Day of the Week
	Pieces of Cheese

Eaten
	Pieces of Cheese

Collected

	Wednesday
	42
	16

	Thursday
	24
	27



Which expression best describes the number of pieces of cheese that remain on


Friday if the family had stored 339 pieces of cheese before Wednesday?


a.   339 – 42 + 16 – 24 + 27

c.   339 + 42 – 16 + 24 – 27


b.   339 – 42 + 24 – 16 + 27

d.   339 + 42 – 24 + 16 – 27

2.14  In the space below, use the chip model to find the following sum:
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- 6 + 8 = _____________

2.15  Use the number line below to illustrate the following sum: [image: image4.png]12

10



          -6 + 8

2.16
In the space below, use the chip model to find the following sum:
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-7 – 3 = ________ 

2.17   Use the number line below to illustrate the following difference:  -7 – 3 


Find the following sums and differences:

2.18
5 – (-4) = ________ 
2.19
-8 + (-4) = ________ 
2.20
-7 – 8 = ________ 
2.21
5 + (-8) = ________ 
2.22
-24 – (-3) = _________  
2.23
-7 + 11 = _________
Write an addition or subtraction number sentence for Problems 2.24 – 2.26.  Explain what the solution represents. Use a number line if needed.

2.24
Carlos deposits $300 at his bank. The first month, Carlos withdraws $125. He deposits another $100 in each of the next two months. How much money does Carlos have in his account at the end of the three months? 

______________________________________________________________

2.25
At noon on July 1st in Montreal, Canada, the temperature is 23º C. At noon on January 1st, the temperature is -13º C. Find the difference of the two temperatures in Montreal.


______________________________________________________________

2.26
A football player loses 6 yards on one play, 2 yards on another play and then gains 4 yards on the final play. What is the overall gain or loss for these three plays?


_______________________________________________________________

Evaluate the following:

2.27
| -5 | + |-2 | = _______________ 
2.28
| -7 + ( -1) | = _______________ 
Use the distance definition to find the distances between:

2.29
-15 and -27:

distance =  
2.30
9 and -11:

distance =  
Identify the property of addition illustrated below:

2.31
-7 + 0 = -7  _______________________________________________

2.32
2 + (-9) = (-9) + 2 ___________________________________________

2.33
- ( -3) = 3 ________________________________________________

2.34
Find the distance between x and 5. ___________ 
2.35
Find the distance between – x and 5. ___________ 
2.36
Use subtraction to compute the distance between the following values. 


SHOW ALL WORK.

a) 5 and 8         _________ 

b) 5 and -8       __________ 

c) -5 and 8       __________ 

d) -5 and -8     __________ 

e) 12 and -17  _____________ 

f) -12 and -17  ____________ 
VOCABULARY

	A. Inverse Operations
	B.  Additive Identity
	C.  Additive Inverse

	D.  Double Opposite
	E.  Distance
	F. Commutative Property  

    of Addition

	G.  Associative Property of

      Addition
	H.  Zero Pair
	I.  Subtraction Property


Matching:

2.37  _____   A pair of numbers (like 5 and -5) that are the same distance from zero on  a number line, and when added together will always produce the sum of zero.  These pair numbers are also called opposites.  

2.38  _____   The order in which you group variables or numbers does not matter in determining the final sum.


2.39  _____  The nonnegative difference between two numbers.


2.40  _____  A number that is the same magnitude as another number but a different sign. It is also called an opposite. 
2.41  _____  For any number x, x + 0 = x.

2.42  _____   x – y = x + -y


2.43  _____  The opposite of the opposite of  x, – (– x) is the number x itself.




2.44  _____  The order of the addends will not affect the final sum.

2.45  _____  Pairs of operations that “undo” each other.


For 2.47 use the following information. Show ALL your work

In the fifteenth century, European flour merchants used positive and negative numbers. If the merchants wrote +5 on a flour barrel, it meant that the barrel was 5 pounds overweight; -5 meant that a barrel was 5 pounds underweight.  Suppose five 100-lb flour barrel are labeled as shown below.



2.47  Do the 5 barrels contain more or less than 500 pounds altogether? ____ 
How much more or less? ________  
CHIP BOARD
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Which model represents   – 5 + 2  ?





2.46





-4





-2





+66





+3





-5








